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1 |xm mz BiEX 5 | 19| 158 | 65 | 8 | 411 NV EES ExRE 5 | 20 | 99 7| 2 108
2 |#4am 24l HEE 5 | 22| 151 | 61 | 15 | 40.4 2 |RA Hz BiEX 5 | 19 94 10 | 1 105
3|RA iz BiEX 5 | 19| 240 | 94 | 7 | 302 3o =3 g 5 | 18 9 1] 2 97
4 |deE wE L= PN 5 | 20 81 0 | 4 | 370 AEEET BiEX 5 | 19 84 6 | 5 95
5 |sm Bx Bk 5 | 20 | 20 | 99 | 27 | 367 5 |12 manE B 5 | 19 79 12| 2 93
6 |12 &R0F EEX 5 | 19| 230 | 79 | 21 | 343 6 |Feo mik LT PR 5 | 20 | 83 1] 4 88
AGEER L FEDN 5 | 20 | 249 | 83 | 24 | 333 6 | x= HEeE 5 | 21 80 6 | 2 88
8 |wo &3 s 5 | 18| 284 | o4 | 21 | 331 8 |=4 =8 gk 5 | 20 | 63 2 | 2 86
9|8 mF Ham 5 | 20 | 119 |39 | 7 | s28 9 |Km @ BiEX 5 | 19 65 8 | 1 74
NE GRS EEX 5 | 19| 160 | 58 | 15| 320 9 |l tE HEeE 5 | 2 66 2 | 6 74
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1|wA &9 Ems 5 | 18 94 5.22 EES PR 5 | 20 21 1.05
2 |nm B BExi 5 | 20 99 4.95 2 |12 BRF EEA 5 | 19 12 0.63
28R Bz BiEX 5 | 19 9 4.95 3|RA ;B BiEX 5 | 19 10 0.53
4 |BTE 2 BiEX 5 | 19 84 4.4 4|km @z BEX 5 | 19 8 0.42
5 |12 &aF EEX 5 | 19 79 4.16 4 | Baz EX 5 | 19 8 0. 42
6 |FEHo mik fEk 5 | 20 83 4.15 A ES X 5 | 20 7 0.35
7| x= Ham 5 | 21 80 3.81 7 |Erm e BEEX 5 | 19 6 0.32
8 |xm mz BiEX 5 | 19 65 3.42 8| x% Hem 5 | 21 6 0.29
9 [nm BE BExiE 5 | 20 63 3.15 T EY HE 5 | 17 4 0. 24
9 |er %5 ek 5 | 20 63 3.15 10[4e8r B N 5 | 20 4 0.20
1|y £2 Hem 5 | 2 66 3.00 NEE LT Hay 5 | 2 4 0.18
12|#F0 B EEX 5 | 19 54 2.84 1|zm g4 EE DN 5 | 17 3 0.18
HECES. ) Bk 5 | 17 48 2.82 HES L s 5 | 18 3 0.17
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ENE BiEX 5 | 19| 14| 5 | 45 | 4 |206] |1 =0T B 5 |19 [ 77 [s6 | 0o | 21 [727
ELE =+ T DN 5 | 20|60 | 6 | 33| 5 [188] |2|meEs LN 5 | 17| ot | 62| o | 20 |81
3 | = EEX 5 |19 |6 | 6| 20| 5 [179] |3|Fmo mx L= PN 5 | 20 [ 13| 75 | o | 38 |66.4
4 |7E B8 EEX 5 |19 | e | 4| 32| 1 |15 |4|nm @t EEX 5 | 19 | o2 | 59 | o | 33 |641
5|8® 25 HEE 5 |17 a0 | 3 | 19| 5 |163]| |5|me maz EEX 5 | 19 | 43| 26| o | 17 |60
6 |#7= T s |17 30| 2 19| 2 |60 |6|mmze BiEX 5 | 19 [ 121 | 13| o | 48 |60.3
1|E% 22 Bk 5 |20 | 82| 720 5 [159] |7|wFen BEX 5 | 19 [108| 64 | 0 | 44 |50.3
8 |FEHO mik EE PN 5 |20 | 61| 4 |3 | 8 [156| |8|xmzx LEDN 5 | 20 [ 112 66 | o | 46 |58.9
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e EZES ek 5 | 20 | 93| 4 |40 | 1 |1a8] |to|mw = HEe 5 | 22 | e5 | 47| o | 38 |s53
10|85 Bz Hem 5 | 18 [ a0 | 3 | 19| 2 |1as| |11 Bz HEe 5 | 22 [ 12766 | o | 61 |520
12|km g DN s || 5| 2 | 36| o |47 |12|xs @z g 5 | 18 | 120 62| 0 | 58 |51.7
13| 5% @z s 5 | 1860 | 2 | 28| 1 |1a6] |13lzm xm BExRE 5 | 17|55 | 28| o | 27 |5s0.0
NETCEYE: Hag 5 |22 | e | 5 | 32| 3 |[141]| |14k zm HEe 5 | 22 [ 155 78| o | 77 |s0.3
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